
 # 10 x 1 5 8 " COATED
SCREW @ CORNER

PANEL TO #2 SYP BASE
PLATE

GABLE
WALL

# 10 x 9 " SIP SCREW
W/ WASHER

@ 9 " O.C

2" MIN.
4" MAX.

WALL ANCHOR HD12 OR
EQUAL W/ 1" Ø ANCHOR &
(4) 1" Ø STUD BOLTS

1
2 " DIAMETER LAG

SCREW INTO FLOOR
JOIST W/ 2" MIN.
PENETRATION @12"
O.C. COORDINATE W/
JOIST LOCATIONS

TYPICAL CORNER EXTERIOR PANEL
JOINT
N.T.S

GABLE
WALL

 # 10 x 1 5 8 " COATED SCREW @
9" O.C. ON  EACH SIDE, OFFSET

SCREWS 4" FROM OPPOSITE
FACE.

2 X   #2 SYP

INTERIOR  SIP WALL

1
2 " TAPCON INTO FLOOR

JOIST W/ 2" MIN.
PENETRATION.

6 " FROM CORNER. 12 " O.C.

SIP

# 10 x 9"  SIP
SCREWS @ 12 "

O.C.

TYPICAL CONNECTION WALL DETAIL
N.T.S

NOTE:
PROTECT EPS CORE FROM
TEMPERATURES OF 160
DEGREES FAHRENHEIT OR
ABOVE.  USE ZERO
CLEARANCE INSULATING
MATERIAL DESIGNED FOR
HIGH TEMPERATURES AS
REQUIRED

1'-0" MAXIMUM
WITHOUT
BLOCKING

FILL GAP AROUND
PENETRATION W/
EXPANDABLE FOAM

SIPS ROOF
PANEL

FLASHING BY
OTHERS

ROOF
PENETRATION

 2 " SHOP - CUT
SLOT BOTH SIDES.

1 7
16"

 MGO SPLINE / COATED FIBER
CEMENT BOARD SCREWS #10 x

15
8 "  AND MANUS BOND 75 AM @

1 7
16" O.C . ON BOTH SIDES OF

JOINT OFFSET SCREW PATTERN
EACH SIDE OF WALL

1
8 "

GAP
TYPICAL

℄ 
  P

AN
EL

 J
O

IN
T

TYPICAL MGO SIPS' S WALL PANEL
JOINT
N.T .S

MANUS BOND

MANUS BOND

1 7
16"

SEE STRUCTURAL PLANS SPECIFICATIONS

18" SIP TAPE ON
(WINTER) WARM SIDE OF
PANEL

SIP ROOF PANEL

SIP FASTENER @
9" O.C W/ 1 12 "
EMBEDMENT MIN.

SIP FASTENER @
9" O.C W/ 1 12 "
EMBEDMENT MIN.

8" x 18 " ALUMINUM RIDGE
CAP PLATE CONTINUOUS
OSB CAP PLATE GLUE+
SCREW @ 12" OC

 # 10 x 1 5 8 " COATED SCREW @
9" O.C. ON  EACH SIDE, OFFSET

SCREWS 4" FROM OPPOSITE
FACE.

2" X   #2 SYP

TYPICAL  END PANEL CONNECTION
N.T.S

D-7
SD-1

D-4HTT4 SIMSON STRONGTIE BRACKET OR EQUAL

1/2" ANCHOR BOLT (RED HEAD) W/ 3 5/8"
EMBEDMENT (MIN) @24" O.C. BOTTOM
PLATE TO FOUNDATION.

#10-16 x 1" PANCAKE HEAD
SELF TAPPING SCREWS 

SIMPSON HTT4
BRACKET

D-8

D-4

D-5

D-1

D-2 D-3

D-6

D-9

SD-1

SD-1

SD-1

SD-1 SD-1

SD-1

SD-1SD-1
SIMPSON HDU5
BRACKET

SHEET

DATE

O
W

N
ER

TI
TL

E

SUPREME INSULATED PANEL
SYSTEMS, LLC. THIS
DOCUMENT, THE IDEAS AND
DESIGN CONCEPTS
INCORPORATED HEREIN, AS AN
INSTRUMENT OF SERVICE, CAN
NOT BE USED, IN WHOLE OR IN
PART FOR ANY OTHER THAN
THIS, WITHOUT THE WRITTEN
AUTHORIZATION OF SUPREME
INSULATED PANEL SYSTEMS,
LLC.

   DEMIDOVICH ENGINEERING, INC.
   5200 GULF DRIVE SUITE 407
    HOLMES BEACH, FL. 34217
     LICENSE # CGC 1525861

ST
R

U
C

TU
R

AL
 D

ET
AI

LS

SD-1

10.11.21

AutoCAD SHX Text
(1) 2x # 2 SYP  ATTACHED W/ #10 1 58" SCREWS @ 9 " O.C.

AutoCAD SHX Text
(2) 2x # 2 SYP.  ATTACH W/ 16 d NAIL @ 12 " O.C.

AutoCAD SHX Text
ROOF PENETRATIONS N.T.S

AutoCAD SHX Text
SIPS ROOF HIP ( LUMBER CONNECTION) SECTION B-B'

AutoCAD SHX Text
SIMPSON STRONG TIE A-21 

AutoCAD SHX Text
(2) 10d GALVANIZED NAILS INTO POST

AutoCAD SHX Text
(2) 10d GALVANIZED NAILS INTO LUMBER

AutoCAD SHX Text
A-21 BRACKET N.T.S.

AutoCAD SHX Text
SOUTH FLORIDA SIPS, LLC. 4124 160TH AVE. N  LOXAHATCHEE, FL. 33470 LICENSE # CGC1525861



Window
Opening

 (2) 2"x 6"

 (1) 2"x 6"

 (2) 2"x 6"

ATTACH PANEL TO
FIBER PLATE W/ #10 X 1

5
8 " COATED FIBER

CEMENT SCREW @ 6"
O.C

#10 X 1 5 8 " COATED FIBER
CEMENT SCREW @ 9" O.C

END ROW , STAGGER
ROWS

#10 X 1 5 8 " COATED FIBER
CEMENT SCREW @ 9" O.C

END ROW, STAGGER
ROWS

(1) 2"x 6"

 18 G.A ANGLE
BRACKET

8 " min.

5 14 " x 5 14 "
PSL  POST

(3) 1.75 " x  18"
LVL  BEAM

(2) RCS3 OR EQUAL

SD-2
D-3

2"x 6" TOP PLATE

2"x 6" TOP PLATE

6" LAG SCREWS TO
BE FULLY
INSTALLED

#10 X 1 58" SCREW @ 9"
O.C. BOTH SIDES OF
PANEL, BOTH SIDES OF
JOINT.

WALL ANCHOR HD12 OR
EQUAL W/ 1" Ø ANCHOR
AND (4) 1" Ø STUD BOLTS

(2) 2" X 6" PT SYP POST

SHOP CUT FOAM 2" INTO
BOTH PANELS ENTIRE
LENGTH & 3" INTO PANEL
@ BASE FORE
CONNECTIONS.

SIPS FLOOR OR ROOFING
PANELS

SCREW  FASTENERS AS
SPECIFIED @ 6" O.C. OR
8d NAILS @ 4" O.C. BOTH
SIDES TOP & BOTTOM
(U.N.O.)

6" SIP TAPE ON (WINTER)
WARM SIDE OF PANEL

FASTENERS AS
SPECIFIED @ 12" O.C. IN
ROWS STAGGERED W/
SUB-FLOOR ADHESIVE
LIQUID NAILS BETWEEN
2X MEMBERS

SD-2
D-1

SD-2
D-5

SD-2
D-7

SD-2
D-9

SD-2
D-6

SD-2
D-4

SD-2
D-8

SD-2
D-10

SD-2
D-11

Door
Opening

(2) 2"x 6"

(2) 2"x 6"

(2) 2"x 6"

 (1) 2"x 6"

ATTACH PANEL TO
FIBER PLATE W/ #10 X 1

5
8 " COATED FIBER

CEMENT SCREW @ 6"
O.C

#10 X 1 5 8 " COATED
FIBER CEMENT

SCREW @ 9" O.C END
ROW , STAGGER

ROWS

#10 X 1 5 8 " COATED FIBER
CEMENT SCREW @ 9" O.C

END ROW, STAGGER
ROWS

 18 G.A ANGLE BRACKET

SD-2
D-2

SHEET

DATE

O
W

N
ER

TI
TL

E

SUPREME INSULATED PANEL
SYSTEMS, LLC. THIS
DOCUMENT, THE IDEAS AND
DESIGN CONCEPTS
INCORPORATED HEREIN, AS AN
INSTRUMENT OF SERVICE, CAN
NOT BE USED, IN WHOLE OR IN
PART FOR ANY OTHER THAN
THIS, WITHOUT THE WRITTEN
AUTHORIZATION OF SUPREME
INSULATED PANEL SYSTEMS,
LLC.

   DEMIDOVICH ENGINEERING, INC.
   5200 GULF DRIVE SUITE 407
    HOLMES BEACH, FL. 34217
     LICENSE # CGC 1525861

ST
R

U
C

TU
R

AL
 D

ET
AI

LS

SD-2
10.11.21

AutoCAD SHX Text
TYP WINDOWS CONNECTION  N.T.S

AutoCAD SHX Text
CONNECTION LVL RIDGE BEAM TO POST DETAIL  N.T.S

AutoCAD SHX Text
HHRC-66 SIMPSON BRACKET

AutoCAD SHX Text
RIDGE BEAM

AutoCAD SHX Text
RIDGE BEAM (40) SD #10 X 2  " 12" 

AutoCAD SHX Text
EACH HIP BEAM (20) SD #10 X 2  " 12" 

AutoCAD SHX Text
RIDGE BEAM CONNECTION N.T.S.

AutoCAD SHX Text
SIMPSON STRONG TIE A-44

AutoCAD SHX Text
4" CONCRETE SLAB

AutoCAD SHX Text
(4) 10d GALVANIZED NAILS INTO POST

AutoCAD SHX Text
(4) 3  " TAPCONS THROUGH 34" TAPCONS THROUGH BRACKET INTO CONCRETE SLAB

AutoCAD SHX Text
POST TO CONCRETE SLAB ON GRADE DETAIL N.T.S.

AutoCAD SHX Text
6" SIP INTERIOR WALL BEARING

AutoCAD SHX Text
(2) 2 x  SYP PLATE @ TOP OF WALL PANELS.  OFFSET SPLICES IN PLATE + BLOCKING BY 48 ".  SPLICE AT MIDDLE OF FULL WIDTH PANEL

AutoCAD SHX Text
ADD'L # 10 x 1   " COATED 34  " COATED SCREW @ 8 " O.C. (EA SIDE ) 

AutoCAD SHX Text
# 14 x 10 " MIN SYP SCREWS @ 9" OC 

AutoCAD SHX Text
PT BLOCKING CONT.  GLUE + SCREW @12 " O.C.

AutoCAD SHX Text
TYPICAL SIPS ROOF TO EXTERIOR SIPS WALL CONNECTION DETAIL  N.T.S.

AutoCAD SHX Text
CONNECTION TOP-PLATE TO POST DETAIL N.T.S.

AutoCAD SHX Text
TYP CONNECTION BETWEEN  POST  - SIP WALL DETAIL N.T.S.

AutoCAD SHX Text
TYP CONNECTION BETWEEN  POST  - SIP WALL DETAIL N.T.S.

AutoCAD SHX Text
TYP HIP ROOF CORNER CONNECTION BETWEEN  ROOF - SIP WALL DETAIL N.T.S.

AutoCAD SHX Text
DOUBLE HIP BEAM (6) SD #10 X 1  "58"

AutoCAD SHX Text
(2) TOP PLATE TO BE INSTALLED AND (6) SD SD #10 X 2  " 12" 

AutoCAD SHX Text
EACH CORNER POST WITH  SD #10 X 2  " 12" 

AutoCAD SHX Text
12 GAUGE CONNECTOR PLATE TO COVER AND CONNECT TOP PLATES & HIP BEAMS

AutoCAD SHX Text
HIP BEAM 1 TO CONSIST OF (3) 1  " X 16" LVL OR EQUAL 34" X 16" LVL OR EQUAL EXTENDED PAST THE CORNER POST

AutoCAD SHX Text
HCP2 OR EQUAL ACCORDING TO POST SCHEDULE

AutoCAD SHX Text
TYP HIP ROOF CORNER CONNECTION BETWEEN  ROOF - SIP WALL DETAIL N.T.S.

AutoCAD SHX Text
TYP DOOR CONNECTION N.T.S

AutoCAD SHX Text
SOUTH FLORIDA SIPS, LLC. 4124 160TH AVE. N  LOXAHATCHEE, FL. 33470 LICENSE # CGC1525861


	SD-1
	Sheets and Views
	11.2.21-SD-1


	SD-2
	Sheets and Views
	11.2.21-SD-2



